EARAZROREIERT — 2 N—XBISY —F 20185F9H2H (H) 12@£R1H

Ll > % 3% B10 ‘ =z # ‘ Emsm]l — | 4 (&) 14000 B
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
hEsE . —1-1- — JIIRBE5L (£R)
1 6| LV—R3-J % 3 o 1.(3_1).8 1-1-1-1 | 40.8 1 (i:g) P
L:24—1)>yA—-x B:yza— BEE BhE
. # 3 | BLURF 1:32.4 5-5-3-2 | 40.2| — 4 440 | ERRRE (£iR)
2 2| RZ—=VT 4T 54.0 3 (+16) "R J PN
R:xA1=%7—2 B:R&2—/SL—FK () HAaI-KRL—>a>aETr
S A ft 3 | REED 1:33.8 3-4-3-3 | 40.9| - 2 430 | HmARK (£R)
3i8l10| PIT>T71—F 5.0 ) (10) | ) 77— bEY=>
R:d—WKTYa— B:T7zFU-RFy T Heh #2
s g = 4 3 | EBHTE 1:34.7 7-7-8-7 |41.4| — 6 545 | RMAZEE (£R)
al7l 7| b—EXATH 56.0 ) =11) (R J PN
R:T—vT74—Z B:ih—trTULtZ HEEH IX7477—A
S 4 3 | BRFEEE 1:34.7 8-8-7-5 |41.4| — 5 45 |£HE—E (£R)
5/7/8|7—h3aA>TU=F 54.0 ) o) | (D J PN
RixrvvHs/Eed BiE XA TT—b HET7— L
o o o2 N :36. === . - BERRE (&R
68|9|*T¥av/NIY— N I e S e ’ (3?2) (B J PN
x4 37 R-5— B:YNN—0-X rE &K
4 3 | REXA 1:36.6 6-6-5-6 |43.8| — 7 43 | BERRE (£R)
7155 ESOrEE G AN 54.0 @ (-8) E(I?I) J P N#Ht
L:FHh¥~71x4 B:O0-XI>TV1l [re—rie]
. o3 | BRERAHE 1:38.5 9-9-9-9 |43.0| — 9 442 | RERE (2R)
3 3| RIFTFX Y H— 56.0 9 (-4) (@) 3P NE
R:vayFrnsT BuN)—Ua BEZ %Y K
N R . —3-6- - SIEEF (&R
9l |T7AH 771 s 54.0 (;‘i{‘:{j‘-) 3368 148 ’ (i?g) AR~
Ledg /v veTa B AA—bFrv—L LR
- 5 $BARK— = = = - - — | JIERBARA (£9R)
s 4| T TIT 4 g 54.0 (BGE) (=) |, () J P N
8L LINT Ry IR B:1955H HET77— L
® 1—F—@EBIERL
1T=7r= 6,9,(1,10),2,5,7,8,3
23— — 6,9,1,10,2,5,7,8,3
Ja=5= 6,9,(2,10),5,1,8,7,3
40—F— 6,2,10,9,8,5,7,1,3
[ /N
B 6 130M 714K 2-6 200 B 2-6 510M JEE 2-6-10 810M
B B 6 110H 6-10 160M e B 6-2 630M JEE 6-2-10 1,940M
2 170 2-10 560M B E 2-6 410M
10 130 B H 6-2 570M

ABICOVWTRDTEEERROODE. TR LIV,



